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v 3) gEm

X 4) sEmi

Common collector amplifier is used
X 1) For frequency conversion and impedance matching
X 2) For voltage amplification and impedance matching
v 3) For current amplification and impedance matching

X 4) For oscillation and impedance matching
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v 1) msEeRE & T g ¥
X 2) R E T gar ¥
X 3) Zexrereee & AT gar &
X g & Ru gar &

Which BJT biasing configuration has the highest bias stability
X 1) Emitter bias
X 2) Collector to base feedback bias
X 3) Fixed bias
v 4) Voltage divider bias with Emitter bias

The input impedance at the centre of a dipole antenna is approximately
1) 300 Ohms
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& 2) 50 Ohms
v 3) 73 Ohms
X 4) 36.6 Ohms

Q.6 |Emitter biased is used
'-’j 1) For stabilising Q point
‘K, 2) For increasing voltage gain

~ 3) For increasing current gain

X 4) For increasing input impedance

Q7 | HfaRT AGHIWIT FT IUTNT
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X 2) T R qaT S & e S &

X 3) W & qarg B S 9GO o F Rear AR
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Q8 |AM # 3feFds uier F fT Ao §8579 & AT
A 1)o@ @R
X 2) 0.58ET TIRT
v 3) 1 geT RT
X 4) 0.7 grar arfgw

Q.9 | Which of the following stage in a radio receiver provides the maximum image signal
selectivity?

K.. 1) Frequency mixer

X 2) RE amplifier

‘-’_ 3). Audio amplifier

X 4) IF amplifier

Q.10 {Which of the following statement is correct?

X 1) The internal resistance of a current source is very low but very high in a
voltage source

2) The internal resistances of a current source and a voltage source are very high
X 3) The internal resistances of a current source and a voltage source are equal

v 4) The internal resistance of a current source is very high but very low in a
voltage source
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Q11 |[pa telegraph system information is transmitted in the form of
1) BCD code.

X 2) HEX code.

v 3) Morse code.

X 4) opcode.
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v 1) () Frsew ¥ RRT AT ®
X 2) [19rew @ BRT YT B
X 3) <>Frsw F BRT QT
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Q.13 | The transfer function of a system is difined as the ratio of output to input in
X 1) Z- transform
X 2) Single algebraic equation
3) Fourier transform
v 4) Laplace transform
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Q.15 |Acaris running at constant speed of 50 KM per hour. The feedback and control
element for speed are respectively

'—( 1) Speedometer and accelerator

X 2) Speedometer and RPM meter
3) Gear and speed breaker

X 4) Speed breaker and Oil indicater

Q.16
In XY mode operation of dual trace CRO

1) trigger pulse is applied to time base generator
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~ 2) in place of input signal time base signal is applied to VDP’s

v 3) in place of time base signal channel 2 signal is applied to HDP’s

4) blanking pulse is applied at VDP’s
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If all poles of control system lies in the left side of imaginary axis of s-plane then the

system is

‘K_ 1) Conditionally stable

x 2) Marginally stable
3) Unstable

v 4) Stable
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X 2) R R F Thet T & AT @ ¥
X 3ger wIfer & R gt €

X 4 e F AT AT ¥

Tsh ISR AT T HHR AIeT gIeT &
?‘(_ 1) FIMPR daT T differentiate I T
‘-’_ 2) sinusoidal AT AT HTeT T
X 3) gafeR @@ @ S8 WA W
& 4) sinusoidal TET F differentiate FT T
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X 1) frree 3R Fufle AEHET

v 2) Fuflex IR FEA AZHFEA
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Aefaf@a & & sia ar aR9Y &1 39AeT v Bfaca waadr dex & g7

v 1) sH

X 2) 3w
X 3) Schimitt RIR
X 4 FE

P &¢lelk &1 39197 §idT & T8l 9

X 1) 9w IRvee 2R AT ¥

X 2) 9w aRveer F Searg I BT &

v 3) srw aRvae F agerg, Y T @

A 1) 9w RTEe O JEEE F AR A & ear &

Peafaf@d & & Fia T weAa Fwogrer vferie 1 3eERT A ¥ 2
X 1) drers T

X 2) River ufFde Rt

X 3) ROgART

v 1) giEsgER

Which of the following forms of temperature sensor most nonlinear and produces a
large change in its resistance with temperature?

v 1) Thermistor

2<_ 2) Bimetal strip temperature sensor
X 3) P-N Junction sensor

X 4) RTD

FSK and PSK are
X 1) Frequency shift keyboard and pole shift keyboard
2) Frequency shift keying and pole shift keying
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v 3) Frequency shift keying and phase shift keying
4) Frequency shift keyboard and phase shift keyboard

Q28 | ot 3 e FeTer T ez B J HIRIT BT F TR A F AT
tiﬁ?]E’(keyword)

X 1) switch T 39T R ST &

X 2) goback &T 39T f&RaT SATAT g

v 3) return ST 39T HIAT FATAT £

X 4) goto T 3UANT fHaAT STAT &

QD | rrafafaa # ¥ fe AEF®T @ dsfiey Ted Ha 7
X 1) FqiET Fea AEHET

v 9 T HATSHIPBIT

X 3) R FEFE

X 4 e AEEEE

Q.30 | Microcontroller contains
X 1) Processor and Timers
'~ 2) Processor and 1/O deviges
X 3) Processor only
v 4) Processor Memory Timers and I/O Devices

Q.31 | Which of the following is not a property of the Common control class?
X 1) Backeolour

X 2) Fore colour

X 3) Front

v 1) Show

Q.32 |1f the frequency spectrum of a signal has a bandwidth of 500 Hz with the highest
frequency at 600 Hz, what should be the sampling rate, according to the Nyquist
theorem?

"(_ 1) 600 samples/s
x 2) 1000 samples/s
v 3) 1200 samples/s
& 4 500 samples/s
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Q33 |Ina critically damped system, the damping factor is in the order of
x_ 1) zero

~ 2) Greter than unity

v 3) unity

X 4) Less than unity

0N | Crfafm # & @i @ sifesie $Rer aoa & 707 & Tafw &
~ 1) Label o§eT

Ki 2) Text box CFEC ST

X 3) Button ST

v 4) Form B

Q.35 |LVDT @R fa®amdel A & HF &

v ) feuae B R s et # el 3R TSl Ao F el
ool ¥ ar @A ST §

~ é) s fr G2 gl Ahsdl diecsT & %ol & AT T TdT ST
ST

X 3) fReae 9 Rer JHed AFes &1 hor 3R TEAY Ao F rms
AT & 3T T 9aT AT ST &

X 4 e 1 e et Qs Aot & rms HT F AT J T
ST ST &

Q.36 |Null FFeX & faw

X 1) IR aEe T H ST g @
X ) & arEe T TR g &
v 3) s B9 T T e &
K4) IR 8¢ TF H T gidr ¢

Q37 | cRT BRI Soldelel &1 T fA8T90T 10 mm & [ 3R O 3rFAeiedT

TalS dlecel I 3T 3R fa8iqur wolel & dleesT @1 giael et R faaiqor
& AT

‘-"f 1) 40 mm g

X 2) 20 mmgwT

X 3) 80 mmghm

X 4) 10 mm gramm
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Q.38 Communication satellites are invariably

X 1) Changing their track and speed
2) Geostationary

X 3) Revolving at their own speed

X 4) Stationary

Q.39 | Which of the following statement is correct?

2<, 1) The frequency of carrier signal depends on frequency of modulating signal
~ 2) The frequency of carrier signal is lower than that of modulating signal

X 3) The frequency of carrier signal and modulating signal are equal

v 4) The frequency of carrier signal is very high compare to that of modulating
signal

Q40 |cMOS HdeT &

X 1) VMOS+PMOS
2) NMOS+PMOS

x 3) PMOS+PMOS

X 4) VMOS+NMOS

Q41 | The bandwidth required for baseband signals for FM radio is generally
X 1) Upto I50KHz
2) 0.5to1.5KHz
X 3) 0.3 KHzto 3KHz
v 4) Upto I5KHz

Q42 | Standard AM broadcast stations usually use what type of transmitting antenna
X 1) Log priodic
2) Marconi array
X 3) Driven collinear array
X 4 Yagi-Uda

Q.43 msﬂ‘emgawaa?‘rw
1) grEfAeE 9iak AM & fAad ®ar § aféhed FM & dgar &

"2) crfies afak FM & ad @aT & IR AM F agar &

N3) ZIafAes diak FM 3R AM gt & gedr &
X 4) giefRs iR FM IR AMEEt & sear @
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Q44 | Communication is a process of
v 1) Transfer of information
X 2) Transfer of circuit

X 3) Transfer of channel

X 4) Transfer of energy

VB | orfafes & & #i7 @1 Rarsw & 10H Hyde e qad 7w gar
g ?

Kl)-s—rm-s—

X 2) W

v 3) $ufde

X 4 giferee

Q.46 Ms—Power Point 3T 39T

A 1) s ofefér & R e &
A 2) MpPEA & T grar &
A 3) gET & T g &

v 4 PPTo & faw @1ar @

Q47 | Pressure error can be measured by
X 1) Differential transformenr and strain gauge
X 2) Strain gauge
3) Selsyn
v 4) Differential bellows and strain gauge

Q48 | Which of the following is most widely used circuit for processing of the transducers
outputs

X 1) Inverting amplifier

v 2) Instrumentation amplifier
X 3) Common base amplifier

X 4) Common collector amplifier

Q.49
S U g% ddoiY VeeadT T FA1S & Fa1eT adoiyl VeeaT & o fopar Srar
g o gaeT Ifsuer ISwH

X 1) i g ST

v 2) mear
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Q.52

Q.53

Q.54

Q.55

X 3) T g T &
X 4) gaer @ar @
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SolfhsT gl ar T & gFd SIMAT FAT g
K_ 1) HDP,JcH

X 2 s =T 2w

X 3) wrERiT wE | R

v 4 fis e w

In Frequency modulation
¥ 1) Carrier signal amplitude varies with the amplitude of modulating signal
x_ 2) Carrier signal amplitude varies with the frequency of modulating signal
x 3) Carrier signal frequency varies with the frequency of modulating signal
X 4) Carrier signal frequency varies with the amplitude of modulating signal

In Telematics

X 1) GTSis used
X 2) RTS is used
X 3) MTS is used
v 4) GPS is used

Solfasta & fafsar 3k a3s e HaA:
‘ffl) AM 3R FM@Id &
X 2) PMIER PCOMET &
X 3) pcM3iR DM ¥
X 5 MR AMET &

Which of the following transistors can be used in enhancement mode?
¥ 1) MOSFET
A 2 uiT
K 3) JEET
X 4) NPN transistor

Which of the following device is not an example of embedded system?
< 1) Mobile
v 2) Microprocessor
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~ 3) Digital camera
4) Tablet

Q36 |gferdrer . aréeiort 3R dieR TareRIfET T SR 3 TR §2
K_ 1) sdlleh
X 2) NRz

v 3) amEe
A 4 AR

Q.57 |MS word THTH g8 & Curl+V 3R Ctl+ S (key )T &7 39T
v )tk awF R gar ¥
A 2) i sk a7 F R g ¥
X 3) e ik R F Rraar
X 4 Rve 3R ¥ & B gar

Q.58 | Which of the following is not a common control event?
X 1) Mouse move

X 2) Click

X 3) Double click

v 4) Ssingle click

Q.59 Which of the following statement is correct?

~ 1) P-Type transistors are preferred over N-type Transistors because mobility of
holes is more than that of electrons

X 2) N«Type transistors are preferred over P-type Transistors mobility because N
—type transistors are easily biased
3). N-Type transistors are preferred over P-type Transistors because mobility of
electrons is more than that of holes

x 4) P-Type transistors are preferred over N-type Transistors mobility because P —
type transistors are easily biased

Q.60 |The output frequency of a frequency division circuit that contains 4 flip-flops with an
input clock frequency of 20 MHz will be

1) 10MHz
X 2) 25MH;
X 3) sMHz

v 4 125MHz
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Q61 [3 %7 Figios THTHRR &

K1) Riwrer thet Fgies WFEBRR & e Roae Heddr w7 @ Roe
dlecsT SATET gidT &

X 2) River ot Feies WEIWRR & FHEe Roae Haer 3R Roae
diecst glell & gld &

v 3) flire et deies WWEBRR & HEEe Rege P 3fts
Roger ateesT &F glaT &

X 4y Rierer ot dcies WFEWRR & FFEe Roder P 3k Reger
diecst gl SaTer gid &

Q62 |\ oD 60 F15ex T & T Sl FE AT TgAdH HEAT &

Q.63 | (MS Word) THTH T8 & Alt+A (key )T ST 3TTTT

V1) wse ¥ A T AT @ AT F & B e @

X 2) wizar # Al Tl A A e = & B gar &

X 3) treer & oY Y AU T Ao GRR) FROR FF I AR FF F
Jeo & AT gar @

X 4) wrEd F T Y AT TR ey 3RRh) F AR FE F IR 4
H Scoa & T glar &

64 .
Q64 o JEET 31 V=5 VIR s =10 mA R §F e I,=6.4 mA & forw wfarer

Rs 3T Hiet
X 1) 1 K Ohms g9
¥ 2) 156 Ohms gRTT
& 3) 470 Ohms W1
X 4) 506 Ohms §I3TT

Q.65 |gwar 7#1 & (Gray ) #IS
v 1) o100%
< 2 11008
X 3 o #
X 4) 1001¢
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Q66 | Sreerdr T3y RS R aFd IR #F ¥ fhE @eT & e - Fo
P qISHE & ST @

v 1) IKeEEd

X 2) Dew

< 3) Latch

X 4) sreww

bl Figure DEQ4. 7 f&U 91T difoteh SIaA & giodel ug fe=ilei@d # ¥ hiel

s’mwﬂ

X 1) vy=A.Cl+B

v 2) Y=(A.B)LB+O)I)!
X 3) Y=Cl(A+B)+B.C
K 4 v=i

VI8 | smr war srome g T Q X CERT AN S TR T ST T A
6T ScoldT &r ar AT SFsH

X 1) Y& HIMHT grom

X 2 RLC /89 & g

v 3) g gfy g

< 4 g g5FCT BN

Q6 | Grfatae sifeage & & fresl T TIEAeS SdT g ST ¥
‘K_ 1) Buttondce

X 2) Textbox eoee ST

‘-’3) Form WHia

X 4) Label 9T

Q.70 |Which of the following is not an operating system?
X 1) Windows XP professional

‘Ki 2) Mcintosh OSX

4 3) Linux Mint

v 4) Java

Q.71

3R T TSl H §H HC H 40mA  50mA FT SGald gled Foldel e
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600mA & 1000mA g SITaT 81 df 39 gIfeieeX & P HI Al
¥ 1) 40gmm

K__ 2) 800 gram

X 3y 3gem

X 4y 400 geT

Q72 |farafaf@d # & il arITeH CMATE Hl 36RO §
X 1) S

Xz)éﬁ‘mﬁ

K3)31’3?-ng?r

v 4 FeTser SMsS

Q73 3ffCeanel BrRaX 7 qUT 3MARF Wiade Jed HA & (60 Fol(5aT AR &M
ThiFca ssdq &l

v ) IR ¥ FF @ ST ¥

X 2y SRy T ST

x, 3) R ¥ FATET @ AT g

X 4 FR F R @ AT E

Q74 |C++#F Fes ¥ Fafrd Fuss gaye weH &
‘f'f 1) cin 3 E@RT el [T ST &
X 2) stin & Z@RT Fier BT AT ¥
Kfﬁ) cout*@ﬂﬁﬂ'mm%
X 4) stoutﬁa‘ﬁmﬁﬁmm%

s 3R UH CRO H 9red fOhdT T14T Lissajous 3ot 2R ged & aF X 3R Y oler
H SR IAT TqaAol

A1) Faerle g9, e & dAvehege 3R P aueR g ary & et
& drer %t &1 3rax 00 grem

X ) Atmrie g, aet & Fviregs R PR awER g @ & gt
& drar %af @ X 900 g

v 3) FiRYe @ At & Heelegg 3R e SR g e & et &
s et 1 AR 900 gl

X 1) FrRYe g, aet F Hediegs 3R PR R g @y & aet &
ar=r %er T 3ax 00 grem
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Q.76 |t THATATT Fedl HieX HI HH Thel

X 1) 3R #e Ther s A &

v ) At AR 3R FHe Tha ¥ Aol g ¥
X 3) @R IR Fe B & AT g @

X 4 AR 3K Aets BT ¥ Al AT ¥

QT |eiforees #r waier RRFE & RT e LR S s #7 a1 aga
FAgcaqur giar g 1381 W wefafadr et s &
1) olc/ole
X 2) amb/élco
"’. 3) colc/dlco
X 4) osle/oico

Q.78 |74AC321CH

X 1) dieT 33a9¢ arel AND 91E gl &
4"<:z) IR 289C dTel NAND 3 gl &
¥ 3) IR 2%AYe A OR I g1 &
X 4 T 3 89T aTer NANDAIE 8id ¢

Q7 |3pr v arEalr FeR Fs e Fe & ¢ IR 3EH | ST o ar
X 1) agalr @R F s P g g

X 2) sl FaemERatdaT @

v 3) SrEAl dSR HONHS & ST

X 4) SrEall H5eT FT 9's T PEECAHE yrod g

Q80 | The most popular form of IC package is
1) Flat pack

X 2) 105

X 3) TO-8

X 4 pLL

81
Q Pre- emphasis 3T 39147

X 1) Low Hedd 1 TEaeiHE e & v gar &
v 2) g P A TR HE & I g
X 3) g8 3R Low T B  TeaieE e & AT gar &
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X 4) g8 3R Low gIaAT WHIFdEY &T attenuate FI F T gHar &

Q.82 Current distribution on a thin half-wave dipole antenna is closely approximated by a
X 1) Rectangular wave

v 2) sinusoidal wave

‘K, 3) Square wave

4) Triangular wave

Q.83 Etching is used for

1) Interconnection
"-,_ 2) Selective removal of the unwanted surface
X 3) packaging

4) Cleaning

Q8 e e & o & AR et &I WK

X 1) 05T 1.0 grar &
v ) 15T 20FF AT ¥
4’<_3) ¥ 1.5d% gldT &
X 4) 5H 10TF T &

25 3R Ueh CRO H, ThieT I gl faaiqor coet & &ty fdg & 25 em, 3Fdorfesr
TaAs dlecst 500V fa8iaoT colet r o 3R gl AT 2 mm AR 1 em g ¥
g faeauT FeeRfierdr

A 1) 0.01 Vi 810

v 2) .0.01 miyv gl

X 00,1 Viem grefr

X 4 0.1 mm/v gl

Q.86 3R Teh el SFUSH HIET Hieee (37Teh) Fe Al H HH N @1 g ar
AT SFITH FT

X 1) dc FBHIRITS TFIRlHT & geTqe IRSHST STdT &

X 2) ac BHIRTS TFINHRR & HBeYe T ST ST g

X 3) de BRRITE AR & 33 R ST e §

v 4) ac BWIRATT THIAHRR & eTYc W ST ST &
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Q.87

Q.88

Q.89

Q.90

Q91

Q.92
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In AM ,Modulation index is given by the
v 1) Ratio of peak value of modulating signal to that of the carrier signal

X 2) Ratio of peak value of carrier signal to that of the modulating signal

X 3) Ratio of frequency of modulating signal to the peak value of carrier signal

X 4) Ratio of frequency of carrier signal to the peak value of modulating signal

337 I Excess-3 BCD &g # farAfaf@a & @ frad cann cged fhar
SRS 2

2 1) 10000001 1001

& 2y 001100111010

¥ 3) 01100110 1010

& 4 011000110111

3itfCeahar AR I ITATT
v ) ¥ g & T gar &
A o) ¥FfRT & v gar &

A 3) §w T & T gar @
X4y s Rudad

Which is not true about forms and controls in Visual Basic?
X 1) They are graphicalObjects
v 2) New versions of the classes must be created with each project
X 3) Buttons can be created with the drag and drop method
& 4) They aft pRebuilt

Which of the following is a group of passive devices only?
"-’; 1) Transformer, Resistor ,Capacitor, Inductor,
K_ 2) Diode Capacitor, Inductor, Transistor
K. 3) Resistor ,Capacitor, Inductor, Transistor
X 4) Resistor ,Capacitor, Inductor, FET

AIge HIEATYs X A

X 1) Qfsfes #ex & ms e 180T &
x2) foeiea R &1 ms 9 0T &
X 3) ms e gher 180T &

v 4 QSR deX 1 ms R ogar &

www.ErForum.Net

1/14/2014



www.ErForum.Net Page 28 of 38

Q.93 | AM REER #T TUss [F& A ¢
v 1) 455KHZ
< 2) 10.7MHz
X 3) 107KHz
X 4) 455MHz

Q.94 | Asynchronous TETAT & ar a=el & &g egd AT
X 1) frerEs grar g

X 2) o g &

X 3) =rer & & Bore BT &

v 4 IRveer @ar ¥

Q93 Ush 8 T FT SAR TBT ADC IMHz Folleh HIaFaar O & T @T & 137
ADC &7 fFdH Fadel s

1) 1000000 FTEFIEFTS T

X 2 | ATSHIERUS FITT

v 3) g AEHERAUE Ee T

X 4 2 ATSHIAHRUS gram

Q.96 | Which of the following is not a sequential circuit?
¥ 1) EXOR GATE

% 2) Bistable Multivibrator

K. 3) SAR type ADC

X 4) counter

Ll U Heclol 3faicer atecaer &1 fBrcar 33K w(ae da Bee s g 1
3R SHH I3 BT ADC 39T &F 6T & dl H13ex &1 HSHdH FH13C Hl
AT gram
X_ 1) 3500 gram

2) 350
v 3) 1999 grmr
X4) 1000 g3

Q.98

Teh SCR &T fHT s
X 1) 8% gIfSer e & 7 glar &
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Q.99

Q.100

Q.101

Q.102

Q.103

X 2) feasw e ¥ T & WY Hear §
X 3) ¥ AT Fe F T g ¥
v 4) zaF ftT e ¥ ST AT B

Page 29 of 38

UfHeet Fes difo Rt e aga Sa@r g § it
X 1) ot R F9es eifereey &7 39T ger &

X 2) zE FedufBee iforeex 1 39T g &

V' 3) gad dewe B TAY g e A8 A @

X 4) = FaRea wifee @ 9T gar &

The SiO, layer in an IC acts as
X 1) Resistor
v 2) An insulating layer
¥ g lay
~ 3) Mechanical output
p
X 4) Inductor

i@ & ¥ Fid gfoas deeroid & @aF7 76 82
‘(1) A=A

X 2) A+0=A

?"\'_3) A+1=1

X 4 Aa=A

Which of the following is not a true object oriented programming language
X. 1) Java
¥ 2) /B6
‘Ki 3) "VB.NET
R 4 Ccw+

AM H

Y 1) $feR Redd & terds, AR Rvee § v & Ty
el &

X 2) SRR Rvarer § Fd | Agafder Rverer f B & @
el &

X 3 SR Tq7eTel AT TFeIgs, AT FHareror i hraradr & |y
qeordT §

file://C:\UserslONASSESSMENT\Desktop\KEY_ACTUAL_uppcl\Question Paper with c... 1
www.ErForum.Net

/14/2014



www.ErForum.Net

X 4) HReR Reaer &1 FadEr | A5l Reee & werdgs & @
Seeldr @

Page 30 of 38

QM oo Rt 3 dieremr e & aRer, Rrerer &1 Ao
X)) mear ?

2(’ 2) 9 e ¥ WA g1 1T &

X 3) Fear

v 4 afEila war @

Q105 T IR (VCR) & fhaer 9hR & 81 T 39T gidr &7

Q.106 Sky wave propagation is used in

1) Long distance transmission

'~ 2) Mobile transmission
X 3) Short distance transmission
X 4) Medium distance transmission

Q07 | 3t Rverer 1 CiEfRe @ ¥ Tgar SR Reeier ¥ AT
v ) AR SR A SO T ueer $ T fhar o
X 2) et faverer ¥ dergs A o F AT AR ST §
X 3) GermahfEer e i U @ se & v far smar @
K 4) Fer Rveter & HiIEr # gee & T fhar s &

Q.108 | A Hi-Fi stereo system

x, 2) Amplifies only high frequency components present in a sound signal
'~ 3) Amplifies only low frequency components present in a sound signal
4) Is a narrow bandwidth amplifier

v 1) Gives equal response to all frequency components present in a sound signal

Q.109

F=X.Y.AB &I & #Rel & TIT e 5IYc aTer NAND et I wgeTd s
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v ) 6gw
X 2) 3gnh
X 3) 4gnh
X 4 sgeh

Page 31 of 38

Q110 | fraifaf@a # & hieT 6T HYUT HET § 2
X 1) PM Rveer #1 $=Rzy AM Reda & &7 ar ¥
X 2) FM Reerer 1 SRz AM Rveer & R & &

v 4) FM Rveer @7 defigy AM Reder ¥ saeT @ &

X 3 FM f&eter &1 dsfasy AM Reaar & &5 a1 Sa1er & ¥har &

Q.111 | v Excclﬂmm
oY gieT a & T g &
X o) twre # fomy & o gar ¥
X 3) Rics v gar
v 4 e tqRfer ¥ T grar @

Q112 | zrass RAwea &

v 1) SR ROM 3 RAM gl & =iRT
X 2) g REF B G IR

X 3 WA 3R Ze9C H13eYC gl & WiRT
X 4y SRR 3CROM g & aRT

Q113 | 11111111+14111101 & Sisar & foT
¥ 1) (EE B TS IR TF @ UK T SRR gl
X 2) Weh Pl TS HR AT T TST AT ST gIom
X 3) WW@mWWUS{ﬁdh{dm
X 4) mwwaﬁrwﬁiﬁ

Q.114
He AT

BT &

file://C:\UserslONASSESSMENT\Desktop\KEY_ACTUAL_uppcl\Question Paper with c...

www.ErForum.Net

X 1) BT I TEIAHRER F BT FoiFel TETNHRR ¥ SIE g §
v ) FTET FaFe TETAHRR F FHT UEHEY TEIABRR ¥ ST

X 3y FHT I TEIABRR F HHA UEH WIAGRR & SIET ¥
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Q.115

Q.116

Q.117

Q.118

Q.119

Q.120
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BT &
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fArafaf@a Rt Fde o & ¢ 7 & fovg ¢ 61 dlsg Tad &7 giar &7

K1) Ffer i
v ) s ¢
X 3) 3Ry &
K4) Jafear &=

PCM T 3TeX0T &

1) TATATIT T TATATIT Fhodelel T
xz) f2fScer & vATAeT FeadleT T
v 3) waretT & RfSed deadie &
X 4 Rives ¥ Rived s=ada &

IDE stands for
~ 1) Interior design environment
X 2) Integrated design environment
3) Interior development environment

v 4) Integrated development environment

fefafad R Rasw & & Fi9 9@ a7 & 2
¥ 1) MOSFET

< 2) scr

X 3 Bm

< 4 QBT

Metallization is used for
& iy Tolation
v 2) Interconnection
3) packaging
4) protection

AR sifeaee & & Fad ReF (Tick) 2de Wwar & 2
X 1) Form BIH
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~ 2) Text box CFEC T
K_ 3) Button SlceT

Y 4) Timer eEFR

Q.121 | AscHl &

XF 1) U 479 #T gaqe H3eYe HIs &
X 2) wF 2Re 1 gAY IIeYE FS §
X 3 U 7 79C FT g9 H3CYC FS &
v 4 WS%EWBW-;C 3T FIS &

Q.122 gUh duar &1 Qaad ua—qout-us qdr h{dl % STefeh q“T:i' er &

Theh T TdT T &
X 1) bM, M
X 2) cMDM
X 3) DM.PCM
v 4 pcM, DM

Q.123 |RL &8 3 Flywheel SIS & 3YANT e T
A 1) ds #F st dreter FERafda wgar @
X 2) dE #F tag s scar ¥

v 3) g & ACaeesfaeT &

X 4) @is 3 3itag areee uear ¥

Q.124 |\gsF CRO # R ToH T 3TTT

X 1) wm&maﬁﬁmﬁm(synchmnise)m
& forw gidn &

v 2) WmmWWWﬁm(synchmmse)m
¥ T @ ¢

X 3) CROF & LOW ledal F ST FT & T giar &

X 4) CRT# T80 g7¢ dleesT F Seike F¥ & T gar &

125
. T 1 mA 3TeX & IfARIET 100 Ohms & 138 1 Amp 31X & gRafda fFar

IRT § 13T% e FaRIY & AT
X 1) 100 Ohms 13T

& 2) 0.001 Ohm g

X 3) 100000 Ohms g3
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¥ 4) 0.1001 Ohm g

Q.126 | Which of the following device is used as an Optical detector ?
v 1) PIN photo diode
~ 2) Transistor
X 3) LED
~ 4) Laser diode

Q.127 Monolithic IC consists of

X 1) Both active and passive components Performance does not depend on the
substrate

x 2) Passive components Performance depends on packaging

X 3) Active components Performance depends on interconnection

v 4) Both active and passive components Performanece depends on the substrate

Q128 |3 3tk Yo( FT¢ die) f3fste feTcer arel dlecdie & Yeide= 100 mV § 1
SHd CART ATAT ST Gehal dToll TURIH dlecol &l Al GO

X 1) 5000V

X 2) 1000V

v 3 200v

X 4 100v

Q.129 m@mmmm@;mmﬁ(series to parallel) ST
aRE 3IANT HAT ST TR § 2

Kl) f3eist

X o) mErdEER

‘-’3) 3T Acercaaal

X4) TalehIsT

Q.130 | Ap emersion rod water heater is an example of
~ 1) Feedback control system
‘-’_ 2) Open loop control system

' 3) Feed forward control system

~ 4) Closed loop control system

Q.131

Which of the following is not a main component of the visual studio?
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~ 1) Solution explorer

X 2) Designer window
3) Tool box

v 4) Start menu

Q.132 |1 a control system, error signal is

~ 1) Given at output of the controller
v 2) Given at input of the controller
X 3) Output of the control system

4) Input of the control system

QI | erfafad & & @i @ Rfves 1C R Rar e wgan & 2
v ) dsRey

X 2) siest ARG

K_s) AT &g

X 4) HaXoT f8er

Q.134 | AFC 31R AGC T Addd FHH:

X 1) iR B S 3R IARE A S ¥
v ) aeaRE Pedd Fae R ARE A Fore §
X 3) iR SR Sae 3R IRARF AT S &
X 4y Trirge P Fee 3R seARE T doe €

Q135 [Feafafaa. & & i & Hoed T &7

X 1) 25 X & v ISR AT & Ot 3T9 WieT arelr AC
FHT A gaTRd BT ST §

X 2) ZeFue flex & T YoreeR gaT § Y DC e F garRd Rhar
ST &

X 3) gz EeX & U saFeRleT gaT & Y DC e # garRd
T Srar g

v 1) e 8 F UF s AT ¥ T T 3T P arer
AC &E FI vared har omar &

Q.136

Ueh BEIRAT ¢ H H & H
X stmard
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Vo) stwad
X3 2dwmadd
Xy 1dFaard

Q.137 Doping means
'-’j 1) Addition of impurity material in semiconductor band structure
‘K, 2) Interconnection

N 3) Cleaning the surface

X 4) Removing of impurity material in semiconductor band structure

QBB lcprat 131 108 srfrafaa qf Ter @ seaet a9, ¥ B Fetea
H { PleT | BT HT 3TART HAT ST Wl & 2

X 1) 10 +rand0) % (10 + 1)

¥ 2) 14rand) % (10-1+1)

< 3) 14(10-1+1) % rand()

X 4) 10+rand) % (10-1+ 1)

Q139 |ge<1 a1 , LVDT 3R ¥ferder 3emed0T 8
X 1) 4T gEsw &
X ) offes ciogl &
X 3) gal grEgE &

v 1) AT TS %

Q.140 De~¢mphasisqﬁqﬁT$T3'cr€l’f?T

‘K, 1) Hig A F 915 g1 &
A 2) &g T & vge g &
X 3 ReHe ¥ gger g &
v 4 U ¥ S g

Q.141 |ue pergy 3rtiaTe® H

K1) smer aww R e A §

X 2 HeFd Soldelel T HEAT glod T T&IT ¥ ST1ET 8l &
X 3) e aw % oy A §

Y 4 Qe 1 TEar ¥ FEd goeee S HEdr ST g @

Q142 Circuit switching takes place at the layer
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# 1) Dataline
X 2) network
X 3) transport
physical

Q.143

T 0-300V diecHel HT TR Bl Thor A&YUT &7 +/-2% § 1 39X aEdaes
30v3‘ra’raﬁa7ﬂaa?f‘r%ﬂ$ria

K 1) 24V-36V gXT
v 2) 29.4v-30.6V g1
X 3) 294v-306V grem
X 1) 20v40v grT

Q.144 |us CD weRR 1 goie arfa

v 1) 200RPM & 500 RPM & drer gl &
4 2) 1000 RPM & STeT BT &

4 3) 100 RPM & 200 RPM & & gt &
%< 4) 500 RPM & 800 RPM & drer giell &

Q145 |weh 8 fae & DAC T YSileerT
X 1) 1esgrm

X 2) 1ggNm

v 3) 1/255 @M

X 4 1256 grm

Q.146 |Rpd ®ReFT

X 0.0 R 1.00 % ST quiteh A ST

X 550,01 3R 1,003 ST GAHST FT 27T

A 3) 0013 1.00% & qories AT o

v 4 00#10{)3:&%13‘%%%@ , oifeheT 3T 1.0 8T grom

Q.147 |ger ST g8 &1 TR T

X 1) Rt 83 & R AT F e g §
X 9 eI §2 & Tt A9 & g w1 Qe &
v 3) Rt 2 & R AT & Saer @ ¥
X 4) R g & R 7 § Fa7 gar &
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Q.148

Q.149

Q.150

Page 38 of 38

Which of the following device is having maximum data storage capacity?
v 1) BD - Blue ray Disc
X 2) CD - Compact Disc
‘K_ 3) VCD- Video Compact Disc
X 4) DVD- Digital Video Disc

SFATATSOIR T T

X 1) fas ReffEer & oo gar &

X 2) fos RefSer & eand & @ &
X 3) ReffEer 3R o gt awd T &
v 1) Rk R ¥ aFd @i @

e 310 gafed IC FT 96K §
X 1) @ fher

X 2) Aafars
K3)313‘®'5’

‘-’4) forr e
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